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partA

Shori Answer euestians (one ltwo s;entences).
1. State the issues and difficulties in NLp.
2' Differentiate between natural }anguage processing and natural language understanding.
3' state the components that make up the knowredge base.d system.
4. Differentiate between syntax au-d seman-tics . 

'

5. Why is it difficult to process the natural languages ?

( 5 x 2 = L 0 m a r k s )
part B

AnEwer dny fowt questions.
Analyticalf?roblem solving questions :

6' Explain in detail different levels of language representations.
7 ' How the naturar language processing systems are evaluated ? Explain.
8' Explain what is meant by the semantics of a natural language 

"r*"".", 
and how this differsfrom the pragmatics.

Discuss the ways in which humans can help a mitchine translation system produce better quality.
Draw the architecture of knowledge based systems.

write down the desirable properties for a formal language to be used for representing naturallanguage meaning.

( 4 x 5 = 2 0 r n a r k s )
,Part C :

Answer all questions.
Descriptive/Analytical/problem solving questions :

L2' (a) Explain in detail about the organization of NLp systems.

Or

ft) Explain in detail about the Top-down chart parsing and Bottom-up chart parsing.

(10 marks)

9.

10.

11".

(10 marks)

Turn over



13. (a) Discuss various uses of Augmented Transition Networks (ATN in computation linguistics.
(f0 marks)

'  O f  '  : '  
'

'
Discus about an example of a simple measurable feature that you could provide to a machine
learning system learning a classifier for disambigpatins the word bof (indicating either an
animal or a tool used in cricket) in coRtext. , .', l

, ,  . I  , :  , . , r  
'  ( l O m a r k s )

How the knowledge is lepresented using semantic nehporks ? Also explain how information
is deduced from semantic networks

(b)

t4. (a)

, ' . ' . . , . . : : . . : . : ' o f . : . .

f t ) E x p I a i n i n o e t a i t a b o u t t h e B o t t o m : u p : p ; " . ' . , , . . . - ' . . | . . . .

15. (a) Explain in detail'about least.eo pfe iaria constraint'propagation.
.  , , ,  

A r , . :  . ,  , , .  .

(10 marks)

(10 marks)

(10 marks)

(10 marks)

[4 x 10 = 40 marks]

(b) What are the major activities perfotmed in the blackboard models ?


